Al A

o o

Ol &b A

=
=

Al

a
nl

3

|l OlcH&

o}
o]

oll

|,

20218 & =0l &t

k

il
&)

q|

Ol ch

2N

RO
10

1J

RO
0

KJ
K-

&l

o) o o (@] o o (@) o o o o (@) o o o o o o o
— < < <t (o)) (o)) N~ N~ o o o < <t (o] © o o o o
@ Cle T [<e (= A << N | o < |
A0 3 S R A R b b A || 318 00
oo |2 == < |« <4< = S|
<
El
E=]
Al o o o o o o o o () o (@) o o («) (e] (e) o o
<t 00} o Q [ee] [e6) o o
© Y] Y] o) < < — —
m, © | o | o |w |o ol |l
H3r | @
uild] N
RS
N O O M~ o o o o o o o (e») o o (e} o o o o o o () () o () o () o o o o o o o o o
n o O W [N) (V] [aN] [0)) (@) [©)) o — QO o ™ ™ ™ o o o o <t <t o <t o <t (o] © © o o o (@] o o
OB N |N|IS |66 & S & I KOl oS5 S|d|~ S - 8§ ~|olo oS5 S|= T =
— OO Al O ()] (o] o Ye) Y] < <t <t < < ()] (ap) o N — — o o o ) Y] [Te]
s8I | =l=|- =) e (2 =]
- > 10 W0
ar o — — ©
e N - -
<
(=
W
CRRE] all il ERG] i oy o ol ol 30
o 2L = 5% S v £Z o & 5
S S N or T ¥ S o S o #y ¥ X
%0 S 2 * = = B0 e = S S Em o
s s ® 8 5 & < S s o = 5
BJ ISES o 8 o o K & K D ¥ S
5 —_ M 8 m ol < Ko S o S
%0 o =] =9 =]
ol 70 5° r0 S o S S|
T 5 v L wx S B S WS
o+ e al = = @~ _ _ o e =
2 oll = 0 [ER m Kl o 0} M
= %0 s w® o iy 5 o = o
. 2 7o o o 0 3r 20
= i o m oK 5 3l W o o o0 Y
S - > Ko Rl _ - . . &l
o Ao ® OB = 0 i KF X | o of Kr 0 nl 0
- o) %0 < Ul ok E| o o | & K] Rr 50 = E| <F
wf_ U] L33 2w R oD % I |s|aa|a|s |5 W o <+ oar n |5 |3 W mm
. oy | Kk wﬁ 3 | ® I BF I - w R |R < & B |l & X X < o < o |3 =
- RO | 2 Wl oy |/ ok oM@ pdl = I KE |k ar |2 ol | o of A0 ® 5 O = | ™ m (o
Rl s | S e (B (kRO wr S| R |o-|FE ® |5 ||,  |D|TF M | Mo 20 [ M
RO e |l | O O S | O A | Oflan|al [ O O &S (i O 3|81 O H|H O
. &D = | = o | — ™ | < | = |= al | — ~ | — ™ | =
IE e — o o o o o («) o o o o o o o o
g < A | | IsY ~ « Iz RsY Y sV ™
I+ i <A | = 0
&) ar | &
il bl
=




AN Dlefdeta
A MY oY UG (AUDDHUF/AMHT)
ol MM AIM EX (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- Jt&3 700,000 *200 At 1,400,000& 1,400
- Lt&=2 500,000 =300 At 1,500, 000& 1,500
- Ct&2 400,000 200 At S 800,000 800
- ct&=2 300,000 *20H At 600,000& 600
- 0t&=2 200,000 *400 At S 800,000& 800
Dleideiad S (sgddgdadt/sg - =& 17,500 40,000 A 22,500
NS etatey =& 17,500 40,000 A 22,500
S SAUSTE XJ ALY 17,500 40,000 A 22,500
201 £B-2d| 2,000 10,500 A 8,500
01 At 22l 2,000 10,500 A 8,500
O &3l Ux M=% 40,000& 5004 2,000
202 044l 2,000 7,000 25,000
01 = LH o4 1 2,000 7,000 A5,000
O0ldgE =& WAL 20,000& 100 2,000
301 LeEBAF 1,500 1,500 0
09 SAEHIX RS 1,500 1,500 0
O0l= X8l 43X A Y BN3 A
50,000& »15H »23] 1,500
401 AIEHI L 201 12,000 21,000 A9,000
01 A& HI 12,000 16,000 A 4,000
Ongdmst=d AN2KNE HIEA
3,000,000% #4204 & 12,000
FAX NL(2ELXNSEML/XNSALE A 4,231,916 3,316,287 915,629
< 210,000
[ia 4,021,916
KIS0 2 A 4,043,066 3,149,987 893,079
< 210,000
e 3,833,066
A2 NGHY AFP(BEXAY) 210,000 135,000 75,000
< 210,000
401 Al HIZ 201 8] 210,000 135,000 75,000
< 210,000
01 A& HI 210,000 135,000 75,000
OiE2d tEel 2A0E2 AME HE=(20)
30,000, 000& 30,000
< 30,000
OglEs ggeley, =28 UE2 =202,
s Hsel BHUEDtS Al HE=
45,000,000& 45,000
< 45,000
O30tH Jtzs 44Xl 30,000, 000& 30,000
= 30,000




S R RS =

FE: HEX HL(FELXNGMNL/NAL A
Crol: XN AL (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
OdzZd 2gel dElls, 8ud =80/s U
= =2 FHI3A 55,000,000& 55,000
= 55,000
O&0orH el ddits dY2 & 0o &
AN U2 A 50,000,000& 50,000
< 50,000
A2A2XSEINL AL 3,833,066 3,014,987 818,079
201 £B-2dH| 4,366 7,187 A2,821
01 At 22l 2,174 2,510 A 336
Ox72 XNIFMLAY S20H4H|
8,000& »3H +36 864
OXNGHLIR 2 T2y EH 8 2AB8 #
2l 250,000& x53] 1,250
OAHEIZA EESd 722 60,000& 60
02 =224l 2,192 4,677 A 2,485
o SgEgas ¥ UskA
1,000, 000& 14 1,000
OEXE RFUH 1,290 +774 1204 & 1,192
202 04l 2,700 3,000 A 300
01 = LH YI 2,700 3,000 A 300
OXelgels 2t HEXY &4 2ol
20,0003 »45& 900
OXSIHLAY LR =0 HI
20,0003 x2H 45 1,800
401 AIEHI L 20 3,826,000 3,004,800 821,200
01 A& Bl 3,808,000 2,974,000 834,000
O Wuel(sRZ22Y) =2 HES A
50,000, 000& 50,000
Oghdg J|2el RIS =8 &2 XS
At 100,000, 000& 100,000
O&ty otse| 202 =2 HUIS A
23,000,000& 23,000
Ogg X222l =30t2 =2 ZHISA
25,000,000& 25,000
OZE8 UE12 NAE0E sZ2EESAM
15,000, 000& 15,000
O&d XE1el (202 =2 ZHISA
25,000,000& 25,000
O&ZE +3532 SHOS == U SA
10,000, 000& 10,000
Ogly dg1cl AsitE & =2 ZFHISA
40,000,000& 40,000
O&tY 322 HS0t2 =2 ZHISA
15,000, 000& 15,000
Oogg N31cl N4t =22 £33 EX3A
5,000,000& 5,000




SN DIAEEEA
H: F Rl e
SHl XIS ALY

H
HM
4o
>
1
2
ne
=
1
He
H1
>

- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 %@i
O88 U=le =M0E 52 ZE2A
25,000,000 25,000
O8t®E &A42e 420t s2 Z&EZA
5,000,000& 5,000
Ost™d &peel H=0ts =2 ZHlZ2At
6,000,000& 6,000
OgHE &2w3el NHEotS o2 -2 A
5,000,000& 5,000
Ost®E &ulel ssSits s2EZHZ2A
4,000,000& 4,000
Ost®E &Ud2el 8480t o422 HUI B A
3,000,000& 3,000
Ost®E el Woistors oty Adl 2 At
30,000,000 30,000
Ost®E HdYiel AS0tsS o2 0tAE T2
2 At 20,000,000 20,000
O&T e II2sE AXZ2A 25,000,000 25,000
OE MMzl HSOIS 01AR IMSIIBA
17,000,000 17,000
OstE =32 s EHZ2A 30,000,000 30,000
Ogt" el ot T A B AL 9,000,000& 9,000
Oost®E Huel 802 AlAE HIJIE AXSA
14,000,000 14,000
Oz&=2 A& AHRLE ESILEISA
210,000,000& 210,000
Otg 242 £4640I2 =2 EHl Z2AH
30,000,000 30,000
Oz=2 A& &0 AIE BEx=Z2A
10,000, 000& 10,000
Oz=2 242 =460 AIE BEx=Z2A
10,000,000 10,000
Ox==2 =42l AJI0IE AIE AFZ2A
25,000,000 25,000
Oz==2 HEel =20t o2 =2 HYIZ2A
15,000,000 15,000
O&=2 AtE3e]l A S AME S SAH
25,000,000 25,000
O Atdel £=d0I2 AE E=ZA
10,000,000& 10,000
Ot 2Me 208 &2 MEZZ2AH
5,000,000& 5,000
OZ=E2 el S=0Is Y EXSA
20,000,000 20,000
O&g At ottt 42 Al 2 At
20,000,000 20,000
O¢&g M4 BES0IS =2 EHIZ2AH
15,000,000 15,000
Oz &2 =20l 29 &XZ2A
30,000,000 30,000

_4_




S R RS =

HH: HAX HL(FELX ML /X

Sl NGHL A

o a
=

=

n

Al)

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

O£ UNe M&E, =202 s=2ZH52AM

5,000,000& 5,000
Oz« HE2 oS &2 Al 2 A

5,000,000& 5,000
O &2 =2 ZEHlZAH 50,000,000 50,000
Ozx==2 =42 &0t =2 &l

10,000,000& 10,000
Oz=2 M2 A0S 42 AUl 2 A

20,000,000 20,000
O&=2 A2 s2A0IES 42 Al 2 A

15,000,000 15,000
Ox==2 SE0t2 ¢+Z HUIZA 20,000,000 20,000
O£ & sH02 sHAX2A

50,000,000 50,000
Ozx=2 st di20ls s Z &2 A

5,000,000& 5,000
Oz&2 st 2208 s Z 2 A

5,000,000& 5,000
Oz A&E2 oetits s2 T2 A

15,000,000& 15,000
Oz=2 gde s2EHZ2A 30,000,000 30,000
Oz==2 &2 Hi+=2 ddl ¥ s EZHZ2A

10,000,000 10,000
o&=2 A2l B2 A B2 A 12,000,000& 12,000
Oz= 242 E40IS =2 3d| & =232

Ak 15,000,000& 15,000

Oz=2 A& HWEOIs s Z & Z2A

5,000,000& 5,000
O =22 2018 AlE AMEZ2A

20,000,000 20,000
OalY 202 JIS0IES =2 T H Z2AH

8,000,000 8,000
Oald 252 UX0IES =2 ZH Z2AH

10,000,000& 10,000
OAlY JtEe S90S =2 T H Z2AH

10,000,000& 10,000
OMZ ace SAEDNS 52 ZRIA

10,000,000& 10,000
O AHHEH2 AArDIsS ot HUIZ2AH

40,000,000 40,000
O &8X2 25012 =2 AUl 2 A

20,000,000 20,000
O &G E4a0IS o2 HHIZ2AH

10,000, 000& 10,000
O 22 HAAQDIES 2 Al 2 A

7,000,000& 7,000
O JIE2| HAIOIE BH=2 AUl 2 A}

15,000,000& 15,000




SN DIAEEEA
H: F Rl e
SHl XIS ALY

=527

AME/NAH

n

Al)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

ONZ Bee Z=0/2 42 Z02A

40,000,000& 40,000
O4dZ SHel YAD2 =2 U3 A

35,000,000& 35,000
OdZ 2dcl BEXE =2 FHISA

30,000,000& 30,000
oKt 55c SX0t2 M2 SZHSA

50,000,000& 50,000
Ot el sZ2EZEI3A 50,000,000& 50,000
Ostw Fitel S0 s EZEIA

20,000,000& 20,000
Ostw =&1el A30t2 =2 ZFHISAM

6,000,000& 6,000
Osgtw netze| Z80tE 22 HHISA

7,000,000& 7,000
Osgtw AtJ14el 2EOtE AHHEAIEES X 3At

4,000,000& 4,000
OstW =H52] S20S == U SA

30,000, 000& 30,000
Ogn 3iHel 23402 =2 ZHI3A

10,000, 000& 10,000
Ostl 512l tiofOots &2 FHISAM

5,000,000& 5,000
OstW = &22] MYOiotES or2 Ul S A

5,000,000& 5,000
O3t el AES0HS oH2 MHIB A

4,000,000& 4,000
Og W Otekel ADI0E =2 ZHISA

20,000,000& 20,000
Ostw Atoi1el & s0tE o2 HHISA

15,000, 000& 15,000
Osgtw 2&1el 30t2 == FUHISAM

5,000,000& 5,000
Ostu FL3e| BS0tS A2 ZEHSAM

25,000,000& 25,000
Ostu OkeH1el ADI0tE AME 23 At

5,000,000& 5,000
Osnw nage] ZXoE =2 ZHISA

15,000, 000& 15,000
Osgtw As1el JIshts =8 FHISA

10,000, 000& 10,000
O A2l 0SS =2 ZHISA

20,000,000& 20,000
Osty H312 A4F0ls s2 2T SAM

15,000, 000& 15,000
Ogn i3] 2302 =2 ZHISA

20,000,000& 20,000
OsR 4¥el ANWUS S2EY L W22

ZHIS A 35,000, 000& 35,000

_6_




SN DIAEEEA
H: F Rl e
SHl XIS ALY

H
HM
4o
>
1
2
ne
=
1
He
H1
>

SA-3H-S(3AH) - MRAS - BES Off &t 24

30,000,000& 30,000
Ot AtJHel et F=XE Zd3A
10,000, 000& 10,000
Osgtw AFel AXOLS == HHI SA
10,000, 000& 10,000
Osgtn &3el JI=s0t2 =2 EHISA
15,000,000& 15,000
Ostw &3l E302 ANE HUISA
5,000,000& 5,000
Ostll Ohdtel BAOIS Ol & M2 SHESA
20,000,000& 20,000
Ogtt &ldel fES EHi=2 FHIZEAM
20,000,000& 20,000
Oglt £22l 8RS =2 € =2 FHI3
At 20,000,000& 20,000
Ogltt &8c 48 s2 FHI3AM
10,000, 000& 10,000
Ooglt stefel A0S 2tZ A2 IR
S A 40,000,000& 40,000
Ooglt ddcl 40t 22 o232 IR
S A 30,000,000& 30,000
Oglt &2cl Ze0tE 0tA2 IHRIISA
15,000,000& 15,000
OZCh gltel ¥=0t2 == EHISA
20,000,000& 20,000
OZCH etokel Ofel =2 OtAZ IHRIISA
15,000,000& 15,000
OZCh gliel ¥=0tS =2 EHHISA
20,000,000& 20,000
Ot liel ALS0HS =2 ZFHISAH
20,000,000& 20,000
Ogtt &48cl s2EZFEEAM 10,000, 000& 10,000
oglt gdcl AEONE 2&4F otA2 IHN2T|
S A 40,000, 000& 40,000
ol 522l sEEEHESA 30,000,000& 30,000
Ooglt £=2cl getits 2td a2 IR
S A 25,000,000& 25,000
Olils 342l 2402 =2 ZHI3A
8,000,000& 8,000
Olls =312 UoosS &2 MEH 2 =
E XS A 30,000,000& 30,000
Olls Z2cl &420tS &¢+d =HHIA
38,000,000& 38,000
Olls E4el EA0tS X Ex=ZA
15,000,000& 15,000

Ootls ==22 2H0t2 X E=3AM
15

,000,000& 15,000

=

i
2




S R RS =
M FHAX HL(2ELXIMNLY/SLE Al
S XS AY

SA-3H-S(3AH) - MRAS - BES Off &t 24

OUls &uecl snots ¢tZ I AM

15,000,000& 15,000
Olls E&ecl d&0ts o2 SHEFHIA

30,000,000& 30,000
Olis #scl 230 s2 & =2 &F

a 5,000,000& 5,000

OllsS Sl HHitS == HHISA

15,000,000& 15,000
OLLAH Ligte] 2F0t2 2tz FHIS A

12,000,000& 12,000
Olgt 2Xiel HS0te T2 SHEZEHIA

13,000, 000& 13,000
Oldt JHel REOS =2 EHISA

14,000,000& 14,000
Oltst =2l A0S =2 EHISA

13,000, 000& 13,000
OLdt EFel E0t2 242 Z3CE MHEH

S A 18,000, 000& 18,000

Oldt d=el =S0t2 =2 EHISA

25,000,000& 25,000
OLtdt s&el SLX0tS =2 ZHSA

20,000,000& 20,000
OLtat Hdel =202 2tz FHISA

30,000,000& 30,000
OLteh a=el 43I =i 243 A

30,000,000& 30,000
OLtdt EFcl HED0ES AME EX3A

10,000, 000& 10,000
Ol EFcl Ex0t2 OIS3sE 1D EXSA

20,000,000& 20,000
Oltst =&te| 2H0tS =2 EHISA

20,000,000& 20,000
OLt4t Ol2¢cl |0I20tS B2 ZFHISAH

20,000,000& 20,000
OdllE S2&cl &AH0S &2 HZ3A

20,000,000& 20,000
OdlZ oflZ2el 240tS &2 MEFH S A

15,000,000& 15,000
OdllE 2l SL0tS ANE EF=3A

10,000, 000& 10,000
OdlE &=e AR08 =2 ZE3A

15,000,000& 15,000
OdllE2 =Hecl 230t2 ANE EF=3A

10,000, 000& 10,000
OdlE 4tel A0S s2 HAZA

10,000, 000& 10,000
OdlE &=2| ot20t2 &2 SF S A

30,000,000& 30,000

=

i
2




SN DIAEEEA
H: F Rl e
SHl XIS ALY

H
HM
4o
>
1
2
ne
=
1
He
H1
>

SA-3H-S(3AH) - MRAS - BES Off &t 24

OcE th=2el 220t2 == EHISA

10,000, 000& 10,000
Odile Sl HEDNS 22E 2 EXSA

15,000, 000& 15,000
OcE &HLiel A0S B2 EHI S A

20,000,000& 20,000
OdllE &3cl 42 =2 FHISA

40,000,000& 40,000
OdllE &=c| 4208 52 E+=3A

30,000,000& 30,000
OdtE 2&el &4AH0tS =2 EHISA

8,000,000& 8,000
OdllE 2&ecl otAH0IS OtA2 IH RIS A

8,000,000& 8,000
OdlE Z4tel HEDS SHAEI S A

10,000, 000& 10,000
Odle Zel 20t o2 SHEFIA

20,000,000& 20,000
OdllE =Hel AIZ0S 0tA2 IHRIISA

25,000,000& 25,000
Odle SH4el RS == HHISA

7,000,000 7,000
OdlE &3el T2ZHIA 16,000, 000& 16,000
OdhE oiZel Zoiote Mgz HUI S A

5,000, 000& 5,000
OE0l Sl 202 AE A=EZA

20,000,000 20,000
OZO0F el =02 == EUHISA

20,000, 000& 20,000
OEO0F 232l S0M0E s2 ZEZA

27,000,000& 27,000
OZO0l el 2202 == EUHISA

12,000,000& 12,000
OZO0F E0fcl Mol 52 ZESA

15,000, 000& 15,000
OZO0F Sl dd0t2 == EUI S A

20,000,000& 20,000
O&0F Egcl U480t N8 =4 ZHISA

5,000,000& 5,000
OZO0F HE - Al th==2 ZHHIZA

30,000,000& 30,000
OZ0F E&cl &0t A2 IHISA

50,000,000 50,000
OZO0 olgel AEitE == EHISA

30,000,000& 30,000
OZ0F gl 40t SZTEESA

15,000, 000& 15,000
ontsdigz, o+, == S MAHKAEXY

2= 3| 300,000,000& 300,000

_9_

=

i
2




2N

Ol cH & & &

FE: HEX HL(FELXNGMNL/NAL A
SHl XIS ALY (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OtEAtD /A8 & =FALES EHl
200,000, 000& 200,000
OA=2, MOISAldE S A9d WE FHI(
=g, SI0&Ex=+2 5) 20,000,000& 20,000
Os20ldSI0 e 58 ¥ Sll==2
30,000,000& 30,000
O&72 XFMLA & AL A
40,000,000& 40,000
03 Al 2 THHI 18,000 30,800 A 12,800
OAL7L XNIMLAYE FEO0 OHE AlZ RO
18,000, 000& 18,000
zs 2el 188,850 166,300 22,550
tz2s X ¥ =X 188,850 166,300 22,550
401 AIEHI L 20 188,850 163,900 24,950
01 A& Bl 187,500 162,100 25,400
OJ2(EeH)S X M 90,000
- JI2(8eH)s &X 1,000,000& 20 20,000
-5 JI2(BoH) S e
1,000,000& 20 20,000
- JEERE IR (2SS 24
500,000& 1005 50,000
OZEZ &2 IS FHAY (=L, 2
S .s5HEEZ ) 1,000,000& x10S 10,000
OEESAMX ¥ =F S+ LH3A
1,000,000& 50 50,000
Ognd ZolLteloHel 28Ad E2H £ F
HI S At 1,500,000 *10S 15,000
OLI&tW THOLE S AL IES(JIE2S) 0I&E3A
1,500,000 155 22,500
03 Al S THHI 1,350 1,800 A 450
Oz (2ehH)s 2elol e AL
187,500,000& *0.72% 1,350
SANNL(ZELXNGMNLE/NLSL Al 7,623,610 5,151,960 2,471,650
s 3,983,000
< 358,000
[ia 3,282,610
SAHE L IIBAIE 22 7,617,610 5,138,360 2,479,250
s 3,983,000
< 358,000
[ 3,276,610
SAHEEZZ FA2e 156,410 137,440 18,970
201 L2l 3,540 3,960 AN 420
01 At 22l 3,540 3,960 A 420
OZAAHERARASE TN bl
10,0003 155 183l 2,700




L EEESESN
B SAN (FEAT AN/ TALEN)
ole

R TAIHE & AlE 22| (2 &HH)
_ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZANHE L ZAHERAKS =& E20HAMHI
8,000 x3H »35! 840
202 04| 2,870 3,480 A610
01 2L I 2,870 3,480 A610
OZA, Z222/HE s2duxs & 4 2UH0HHI
(22) 70,000) *3H «73| 1,470
Ot TAIHEARS A ZLHO Y]
20,000 *4H x53]| 400
Ot TAZI2AJS A 2G|
20,000 *4H «53]| 400
OEZAHE Al 2292 =& 20|
20,000 30 600
401 AIEHIZL 201 Y| 150,000 130,000 20,000
01 Al&H| 150,000 130,000 20,000
OB TAHEEZTZ ANEEM S
10,000,000 *5JH A 50,000
Otz SAHEEZZ 022X 24|
100, 000& »300m* 30,000
OZAHEEZEZ2(EEHS 2 4) 00, AIH, ZTH
s 24 50,000,000 50,000
OEANHEZZ(EE=E~222) JI24 HY|
2 Ab 200,000 1000 & 20,000
oM S BaiEtd JNH AL 45,000 45,000 0
401 Al HI L 2 0HHI 45,000 45,000 0
01 Al&H| 45,000 45,000 0
OZANHECZ(SEHS 2 4) BHsE ZAA
! 9,000,000& *5)H 5™ 45,000
SAHEESZ A 130,000 300,000 A 170,000
401 Al HI L £ 0HHI 130,000 300,000 A 170,000
01 Al& B 130,000 300,000 A 170,000
OSEZS RI2YAMHE~ER2 TRt S JH|
= A 50,000,000 x 1Al 50,000
OlEH 2HEDZE~ZA2 T2 IHE ZAHE
AbH|) 80,000,000% 14! 80,000
SAHEETZ HEANSE(EX) 500,000 0 500,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OZAHECZ2(BEHIZE~sHEZAL) SEZA
400,000,000 « 1Al 400,000
OstZEg Jl2el MNP TAHEZZ AAl
A & Z22HE S<=2H100,000,000 14! 100,000
EXNEALEI & MHollFALEEAL 229 308,000 0 308,000
401 AlEHIZL 2 0HY| 308,000 0 308,000




SN DIREEEA
B SAN (FEAT AN/ TALEN)

-1 = = LT
% Jle

SHel: SAIME L OIIBAIE 2ol CEEEED
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
01 Al&H| 308,000 0 308,000
OgtEz2 I EXNELAEI L HWoHFUAEEMD =2
=) 308,000,000 « 1Al 308,000
S A THAH AN 3,575,000 3,047,220 527,780
= 2,145,000
== 358,000
= 1,072,000
101 Q121 H| 132,000 0 132,000
02 JIEFR &2 %= 132,000 0 132,000
OZAMMARAE MEHE S o124H]
11,000,000 120 & 132,000
201 gBt2A | 30,425 960 29,465
01 AP 22| H| 24,425 960 23,465
O AI A XA E AF = P2l
200,000 *12J00 & 2,400
O S Al TH A4 AF 2 oM ¥ EEE M
500,000 64! 3,000
OGS ANMMXIKAME =& E2044H|
8,000 x2H x4 x 124 & 768
OGS ANHMXKAALE AFRDID] A2
132, 000& 1200 & 1,584
OZANMMARLAEH LD S U=
638,000 x12J00 & 7,656
O=Z220HI0IH &=
375,700 x2L 1200 & 9,017
02 E22%H| 6,000 0 6,000
OEANMMMARLAEH 202 500,000 =120 & 6,000
202 04| 2,400 1,260 1,140
01 2Ll 2,400 1,260 1,140
OEANMMMAJHAEHE S AIY =& 2O Y|
60,000%J *23H %203 2,400
301 et A =2 6,100 0 6,100
09 SHAIAHI X & 2 6,100 0 6,100
OFUEAM & &% &HH|
10,000 «30H 123 3,600
OZANMM =, HOILE, g2 & 4|
50,000 x5 «103] 2,500
307 2iz2to| A 20,000 0 20,000
02 QIZ2IA AAIE E X 20,000 0 20,000
OFoHMAZ22AS 10,000,000 24! 20,000
401 Al HI L £ 0HHI 3,384,075 2,815,000 569,075
g 2,145,000
= 358,000
= 881,075




L EEESESN
HE: CANL(FELTGHL/NALTAI)
[u]

SR T AIHE L DJ|BFAIAE 22| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 3,384,075 2,810,000 574,075
OZAMAM Foldz2Ag T ) 29
20,000,000 34! 60,000
OZAAM HelsH AlAdl 3,000,000 23| 6,000
OEANMMSLAIE BAH S
3,309,575,000 1Al 3,309,575
g 2,139,900
= 357,150
= 812,525
OEANMMESEAIS AlE 20|
8,500,000 =14l 8,500
g 5,100
o= 850
= 2,550
HUAA HAAETZ HH £ F=XNE ZHAY 1,900,000 1,038,300 861,700
Fag 1,000,000
= 900,000
401 Al HI L £ 0HHI 1,900,000 1,038,300 861,700
Fas 1,000,000
= 900,000
01 Al& H| 1,893,700 1,038,300 855,400
O ANE dZ2ez MAMXS3 AFEHI
900,000,000 1Al 900,000
OB ANE HAZE=2 L F=XE LAY
993,700,000 x 1Al 993,700
Fag 993,700
03 Al E20HH| 6,300 0 6,300
OLLANE HZ2Ez2 Y =XNE LMY AMER
CH Bl 6,300,000 *14! 6,300
g 6,300
St ES AR EE LIHI0ISetED] AIY 858,000 500,000 358,000
= 838,000
= 20,000
401 Al HI L £ 0HHI 858,000 500,000 358,000
g 838,000
= 20,000
01 Al& B 858,000 500,000 358,000
02021 X942 USZSAS ALAHEAN 24 2
) 20,000,000 x 1Al 20,000
OSZEESIANKER LIHIOISCHED| A Y
838,000,000 « 1Al 838,000
Fag 838,000
=2&Ns &2 41,520 70,400 A 28,880
201 LBt 9| 10,800 12,000 A 1,200
01 AP 22| d| 10,800 12,000 A 1,200
Os2&d 0= UMY FEH GHE A28 F#
el 450,000 64 2,700




SN DR
B CANZ(RELNANL/XAL A
SR T AIHE L DJ|BFAIAE 22| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O=28Y ZIOSHH =3 g A28 S 7Y
(MHHHE) 900,000 x9S A 8,100
202 04| 720 400 320
01 2L I 720 400 320
OSAZNE 610 L AN HA =& 2 U
Hl (22]) 40,000& x18& 720
301 LBt A= 5,000 0 5,000
12 JIEtE A& =2 5,000 0 5,000
O=&dIsEs =HEAZ 1,000 *5,0000H 5,000
401 AlEHIZL 2 0HY| 25,000 58,000 A 33,000
01 Al&H| 25,000 58,000 A 33,000
O8x=8 HAW KAl 600,000& *504 &~ 3,000
O =2 AHAIL =0 &X L WHH|
4,400,000 *50 & 22,000
T A THA AR (XEAN) 103,680 0 103,680
201 et 9| 2,960 0 2,960
01 AR 22l ] 960 0 960
OSANMNM SLAIY =& E204AH]
8,000 x3% x40 960
02 2324 2,000 0 2,000
OEATAM A Al 202
166,660 124 & 2,000
202 044 720 0 720
01 2L Y| 720 0 720
OZAIMAM SEASE =& Z2UWHHY|
20,000& 3% x123] 720
401 Al HI L £ 0HHI 100,000 0 100,000
01 Al& H| 100,000 0 100,000
02021 T AITHAAIY S M&3HHE () =8 2
o 100,000,000 100,000
S AE 22 6,000 13,600 A 7,600
S AFZEH ALY 6,000 13,600 A7,600
201 LBt 9| 6,000 3,600 2,400
02 2=2=2%H| 6,000 3,600 2,400
OZANHE2 222(HD], 2222)
500,000 x12J00 & 6,000
UBIS AN ENLANY (sSHHLY A/ sH - =) 11,114,660 9,923,760 1,190,900
g 4,924,600
= 97,000
= 6,093,060
LS MAHETIHNE ALY 9,638,456 9,480,660 157,796
g 4,016,600




k

il
&)

q|

Ol ch

2N

—

Ll
Ho

==
1o

(e} (e} o o (e} (e} o o o o o o
N~ N~ (2] [e0] < < 00} [0} o (e} o o
Q| |® b ~o S © | © S < e
Al g9 : < |2 2 (8 8 8
Ko < q q
E
E=
o o o o o o o o o o o o
(o] Al o Al < < o o o o
< [aV] (&)} ™ [aN] N (e} (e} o o
g = | < |e|s S | BRE
H3r — -
uild] ® ®
RS
O o o o o o o o o o o o o o o o o o o o o o o o o o O O o O O
LO ™ Yo} — © Yo} < < (e} (e} (e} o o 00} @ Al © o o o o o o o o o O O o O O
©|©|®|n & & & ©B|H BH & ¥ §F LSS5 5 S5 S5 S S S|5595|5859
— < N~ ™ — [aV} @ (ap] — — <t < [aV} Yo} Yo} o o Yo} o o (@] © O © o O O
S| & | 22 o o - o o 18 =258 =5
3 |o ©w — —|o ==
<
=3
[+ o mmh
I Bl o = o g ol oo OF r+ B e < S L R
Ql () 0 = o Bo N A= . = T— = — — - <= —
*x *x D I* m I* 4}11_ I* (um) _Ao = * R * * * *
= G ol =l _ al rE S tmwosw @ _® Hw mga
or )] o B0 * v 2o gAQ oo T Hoe g o e e %o
¥ _ S A « o ox =% BO¥ X x S S S Yo S =9
0 @ ol 2 UL 50 B0 R & ol ol RS S S xS WS =S
B 28 M3 N L oY TP A QU ES HES S #HS M8 8
KRS I\ Uo & & o x S S S - S ISEL{RS
. =< = x W KOO g OB B0 g1l &y B0 o A a= A= 4= .
Ko I :Doz o o KIS S Lo To Mo = o o v o
31 LSy S -8 WS 8 S x X RS 5 Z— g _ S =)
= ar oS8 - < ) ) Ko < oo op = - <
< —_ . o _lw_ o o o RO o :._u_ o KO . AT Gl
ar ) l M 2 = o= m _LM_.JE S = o 4r &l m_
= | i OIS @ W = o ok m |
. o0 ] w80 —~ 2 > x O o = =
— Y ¥ R n REmw 5 Koy 5 ° w o = t .
= oll 100 KE < KE OF Mle — K m = = _llT KJ Y o 20 K >
ol 30 W 5 wowm <O mod w_|s woXowo@wm oW 1
— = = = = = = = o & wD | = = Uk o) 00 <F mJ ol —
% ..rA I ~ o~ ~ ~ _|.,A| — @ — M A [um) o of = ) zl — =
& | = [T K Kl o K K K KD |M|R & ol i3 <J g o} Ujo
=8 [0 S S 30 S o S S~ RIS |R|D < = H0 [} 23 [} gl 3l & %0 =3
- Kol oH | < < 0 < s < I3 AFEAF | H | kW WHEH | D |D D) H H I U< N el )l
"l S |3 |oF H Ho A0 Ko El i Hom ook | |< IR Kw | |z ol ) Kk <4 W B = K
RO |l =< O O H0 O | O O O ol |®0 O O =z | O O O O O O 0 =4
. H | = [= al o | = — | o — | = Kio )
. o o o o o (e} o o o o
x o | & leY} ) < K <
o ol 0




2N
X ZH -
L= B

el

Olef &=t
ol "}

UM ENLMS (sBHL /5 -

2 Bhis 410 = ) & AL S

Ol
1]

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
02 BI2SHUSAN2EAEAIS Y 3,086,000 3,124,000 A 38,000
ONZH SESAX 2HSIAS(HAIRA A=
) 3,086,000,000& « 1Al 3,086,000
Fag 1,110,000
= 1,976,000
SESAMIEATIANL(SHES)(BEX) 1,300,000 1,716,000 A 416,000
g 910,000
= 390,000
308 AHXIEHMSOIA 500,000 0 500,000
= 350,000
= 150,000
112 2SUHUSHEAEAE A Y| 500,000 0 500,000
O8HEs s=EzA K 2HsAISE (XA eA5
Fed) 500,000,000 « 1Al 500,000
Fag 350,000
= 150,000
401 Al HI L =2 Tl 800,000 1,716,000 £916,000
g 560,000
= 240,000
01 Al&H| 797,000 1,711,000 A 914,000
OSZES s8N S43AE
797,000,000 = 1Al 797,000
g 557,900
= 239,100
03 AlE 201 Y| 3,000 5,000 A 2,000
OHE sESAXN EHSAE AIZL20UH|
3,000,000& 3,000
Fag 2,100
= 900
SE MNEE EHAANY 148,000 0 148,000
= 103,600
= 44,400
201 Yet2 | 16,800 0 16,800
= 11,760
= 5,040
01 AP 22| H| 16,800 0 16,800
Odlo & XEasd 200,000 43| x6& 4,800
= 3,360
= 1,440
OFXAAS 3o 100,000& x10¥ 123/ 12,000
= 8,400
= 3,600
207 SO0 £ 130,000 0 130,000
= 91,000
= 39,000
01 | 130,000 0 130,000




2N
X ZH -
L= B

el

(SPHL2L/5Y - 5E)

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OszdE=Eo N JeAs 28 29
130,000, 000& * 14! 130,000
s 91,000
s 39,000
301 LEHZ 1,200 0 1,200
2 840
s 360
09 HALAHIX A S 1,200 0 1,200
OSEMBHEZHANY XX
40,0003 *5&H x62] 1,200
s 840
e 360
HSS JIZMEHE SHAMY 2,029,926 1,360,000 669,926
s 1,394,000
s 635,926
403 UHXSHHSA=0l& 2,029,926 0 2,029,926
s 1,394,000
[ia 635,926
02 S 2S0CHet A=A 2 & AL H 2,029,926 0 2,029,926
OUsY J=MENE SHAG(FA0E 28
2) 38,925,480& x 14! 38,926
OIS JZMENE SHAL
1,991,000, 000& 14 1,991,000
s 1,394,000
s 597,000
O JIZMEHE ZEAHY 543,000 0 543,000
s 380,000
s 163,000
401 AIEHIZL 2 CHEI 543,000 0 543,000
s 380,000
i 163,000
01 A& HI 543,000 0 543,000
OO0 J=dEaNs ZdAd
543,000,000 =14 543,000
s 380,000
i 163,000
ANz g2 st 170,000 200,000 30,000
s 119,000
s 51,000
308 XX EHH SOl A 170,000 0 170,000
s 119,000
i 51,000
1132 SHUHSI S HAE ALS I 170,000 0 170,000
OAlZ AE23HALY 170,000, 000& 14! 170,000
as 119,000
i 51,000
BEHS LE50S OISASIIAG (M8 144,200 264,300 A 120,100




SN DIAEEA
ol

H: B sMUHENLSAS (sHHL>/5Y - &)
Pl LB MO EHEAY (S &2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TAIEHI &R 144,200 264,300 A 120,100
01 A& HI 143,200 263,000 A 119,800
Ogtd L&0t2 s sSIIAY
143,200, 000& 14 143,200
03 AIE 2 THHI 1,000 1,300 A 300
Ogtd L-&0t= 0t=S8SI1AFY 1,000,000 1,000
LAt I - 2302 OIS SIIAIY (& 8H) 219,500 189,500 30,000
401 Al HIZ 201 8] 219,500 189,500 30,000
01 A& HI 218,500 189,000 29,500
OLtat OHE - 2F0IS DS 24SIALY
218,500,000 » 14! 218,500
03 A& S THHI 1,000 500 500
OLta OHE - 202 DS 2SIALY
1,000, 000& 1,000
S A0S MISUSIIAY (HEH) 431,000 39,000 392,000
401 Al HIZ 201 I 431,000 39,000 392,000
01 A& HI 430,000 39,000 391,000
Ostl N9 0tS DS AUSIIAE
430,000,000 =14l 430,000
03 Al SR THHI 1,000 0 1,000
Ostm 2ADU0IS DS UEIIAY
1,000, 000& 1,000
HEH SHOIS OIS ASIIAS (M8 453,000 47,000 406,000
TAIEHI &R0 453,000 47,000 406,000
01 A& HI 452,000 47,000 405,000
Odi29 S70t= OtSsUSIIAMEY
452,000,000 =14 452,000
03 AlE 2 THHI 1,000 0 1,000
OollEH SFOIS DISUSIIAE
1,000, 000& 1,000
LAt 2EH0IS 0IS2HSIIAML (X E) 453,000 47,000 406,000
401 Al HI X 201 453,000 47,000 406,000
01 A& HI 452,000 47,000 405,000
OLatH FEHOIS DS USIIAE
452,000,000& =14 452,000
03 Al 2 THHI 1,000 0 1,000
OLdtH FEOtS 0SS SIIAY
1,000,000& 1,000
St AMNHOIS 0ISUSIAL (H &) 453,000 47,000 406,000
401 AIEHI L 20 453,000 47,000 406,000
01 A& Hl 452,000 47,000 405,000




SN DIAEEEA
ol "}

A AU MO ENLAY (SPHYSM/5Y - 5&)
Pl LB MO EHEAY (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ostn ALAFH0IS ISLHSIIAY
452,000,000 =14 452,000
03 Al 2 THHI 1,000 0 1,000
OstnH ALAF0IES ISLHSIIAY
1,000, 000& 1,000
DIS2SIIAIY (H &) 60,000 0 60,000
401 Al HI K 201 I 60,000 0 60,000
01 A& HI 60,000 0 60,000
O2021F OtS2tSIIALY 20,000,000 *39H & 60,000
FOUFE 0IS22E) NA(sESHTZLY (M) 18,000 0 18,000
401 A& HIZ 201 Y] 18,000 0 18,000
01 A& HI 18,000 0 18,000
O==8&2d XA 4,500,000 *4J4 & 18,000
22X |A 2el & 245 5,000 0 5,000
201 et 3,600 0 3,600
01 At 22l 3,600 0 3,600
OREXT A2 27 S2OHA Y|
8,000 x5 902! 3,600
202 044l 1,400 0 1,400
01 = LH o4 1l 1,400 0 1,400
OREXT ASH2| L HARY A3 2O
gli(22l) 70,0003 x5 %23 700
O2zX+ £ HAOSE AL |X 82 32U
ol (22l) 70,0003 x5 %23 700
sEZFIEEE 1,476,204 437,000 1,039,204
s 908,000
< 97,000
e 471,204
FAXA HEAMG(ME BA) 828,204 437,000 391,204
s 431,000
= 46,000
i 351,204
403 X SHH S =0l & 828,204 0 828,204
s 431,000
= 46,000
s 351,204
02 S 2SO HEAE R 2 E AL H 828,204 0 828,204
OF XS MEWAINZAIG (212 B ) (HA
olg 288) 245,203,600 245,204
OFAUXY MEBHAMNZ AL (M BH)
583,000,000 583,000
s 431,000
< 46,000
e 106,000




S R RS =

HE: UABSMUENLAL (SHHS2M/5Y - 55)
ool sEIEIINES CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HAXSG HZAS (B8 8& - 24 326,000 0 326,000
s 238,000
< 26,000
s 62,000
403 Mt SHHSA=0l& 326,000 0 326,000
s 238,000
< 26,000
s 62,000
02 S 2S0CHEt A = H 2 & AL H 326,000 0 326,000
OFAXY MEOHA HZAY (BE EE,24)
326,000,000 =14 326,000
s 238,000
< 26,000
s 62,000
F XS HEAMG (LA AIE) 322,000 0 322,000
s 239,000
< 25,000
s 58,000
403 UHXSHHSA=0l& 322,000 0 322,000
s 239,000
< 25,000
s 58,000
02 S 2S0Het A=A 2 & Ar 322,000 0 322,000
OF AR MENEA HEA (LEA &2E)
322,000,000 =14 322,000
s 239,000
< 25,000
i 58,000
AFAEX 2l (A - SAILLEX/MEEE - DEF 3,697,000 2,866,000 831,000
)
s 2,662,000
< 527,500
[ 507,500
MEHES 2 2e 3,687,000 2,866,000 821,000
as 2,662,000
< 527,500
e 497,500
AoAFIIY N 30,000 30,000 0
401 A& HIZ 201 I 30,000 30,000 0
01 A& HI 30,000 30,000 0
Ot (sSeE, ole, &%, su)d=I1g Il
BHAlE =M (Z2, 042 ZH S)
15,000,000& 201 7| & 30,000
SUSESMY ENQEEXF JIEAIE =4 2,662,000 2,836,000 A 174,000
s 2,662,000
401 AIEHI L 201 2,662,000 2,836,000 A 174,000
s 2,662,000

_20_




S R RS =

AP OX 22 (dY - BAINGLUHUEX/AHRE - DE )
el MOEM QB2 (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 A& HI 2,625,416 2,828,910 A 203,494
ENHEXF JIBtAIE =4
2,625,416,000& 2,625,416
= 2,625,416
02 Zeltl 27,000 0 27,000
ENHEEXF JIEtAIE =4 Zeltl
27,000,000& 27,000
= 27,000
03 AIE 2 0HHI 9,584 7,090 2,494
OEXETXIF JIBAIE =4 AIE20Ubl
2,662,000,000& *0.36% 9,584
as 9,584
S3HA JIEXEE EFXNJAMS 55,000 0 55,000
= 27,500
= 27,500
307 glz2tol & 55,000 0 55,000
= 27,500
= 27,500
02 It MAHEE 55,000 0 55,000
O sZ(s2, 8%, 80)SX JgUEs =
SHXI& AL 5,500,000& =109 &~ 55,000
= 27,500
= 27,500
SEE UMD ZSH2SME AEY 940,000 0 940,000
< 500,000
s 440,000
401 N EHI L L0l 940,000 0 940,000
< 500,000
= 440,000
01 A& HI 915,000 0 915,000
SEHEAC SHSHME AETA
915,000, 000& 915,000
S 486,800
s 428,200
02 Zteltl 20,000 0 20,000
OSgEuNE Se2stdE A53AH Zeldl
20,000,000& 20,000
= 10,600
s 9,400
03 AIE 2 0HHI 5,000 0 5,000
OSHBUT SH2IME ASDA AL
u]l 5,000,000& 5,000
= 2,600
= 2,400
LI H X 2el 10,000 0 10,000
LI IOHAA S &F 2tel 10,000 0 10,000




S R RS =

HE: MG F2(MY - EAILLHEX/MATE - DEF)
el WO IJlARICT 22l CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OLIRRINMACHA T8 S2AB2
10,000,000 = 1Al 10,000
BHAMAHH| (0|HE A ) (DIEH/DJIEH) 38,755 39,153 398
Jl2&ddl 38,755 39, 153 A 398
Jl2AH| 38,755 39, 153 A\ 398
201 et 9| 18,055 16,353 1,702
01 AR 22l ] 15,360 13,920 1,440
ONSY LBr2AH| 50,0002 x22% x12& 13,200
ORE EX 2E= 10,000 x18&=x12& 2,160
02 232%H4| 2,695 2,433 262
OYREA SEEYQD 2,695
- guteH 350! *3,5000H 1,225
sSH 2,450 *6000H 1,470
202 o4 H] 13,200 19,200 A 6,000
01 2L I 13,200 19,200 A 6,000
O0jeidesA JI2ge =8 20
50,0003 *22% x12& 13,200
203 & R =&t 7,500 3,600 3,900
01 JI22HE Y FFEH| 3,300 0 3,300
OJ|&2y9g g4 275,000 x12& 3,300
04 EASHEIRFAH| 4,200 3,600 600
OFMSY YRF&H| 350,000& x12& 4,200
HEES(0lHE A ) (ALY - SADHLUHHK/MERE 2,469,296 3,226,902 A 757,606
-
WEAHAHXI= 2,469,296 3,226,902 A 757,606
LHEAHH K= 2,469,296 3,226,902 AN T757,606
701 JIEISI HSHES 2,469,296 3,226,902 AN T757,606
01 JIEtSI HEE2 2,469,296 3,226,902 AN T757,606
OLUBIMAUT XN ELEIH &2 330,460
- SEBAYCT ANLSY L eyl
330,460,000 330,460
Os3X7>x4d S83H 852 2,138,836
-s32S¢X 29 ¢ 22|14 396,836,000 396,836
- BE, 8D L% S3ZON HES =H =
ZAYE ZHIEREEZ2 200,000,000& 200,000
- @ EMEG 2R (2 H) XA AN
1,542,000,000& 1,542,000

- 22 -




